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 في العلوم الفيزيائية 01واجب منزلي رقم 

�����:  

2$�ارد ا����آ��
��ت 
2 3 (aq)S O −  %
�) �' ا�&��) (�  S/��&4 ذا/�� �1�2د $�ارد ا�*��رو���م و /.دي إ�, +*�ر را

�9 �8ز وا�7ي 
!&� ا��6��ل :;
2SO 7ج ا���6ل ���2!�د�� ا�������;
:  
2 +

2 3 (aq) 3 (aq) (s) 2(g) 2 (l)S O  +2H   =  S +  SO  +  3H OO− 

     (La dismutation)  ا/=  7ا�  1- ��ذا �?<� ����2&4 
)(ا��;�C ا��;���B' اآ�) ا��!�د���' ا�;<����' و   -2 / ReOx d  '��?Dا���ا  

3-   �F6�7  �*;� �Hوا Iآ =D JF� �*2�K�� �$��2  
         1V  م�
2  .�'  �6��ل ���آ��
��ت ا�<�دV   ر ا���ء��3         .�' �6��ل M�H آV  �:?ا���ء ا�� '�.  

  
  
  
  
  
  
  

��*� ا���P  ا�:�
?��?��ح ����2!� ه7ا ا���6ل Q (ء آ��F�2 �Rور �K�2 I6% آ/ JF� ا������X  =;�Pل ا��Sا�� T�?و�t∆ 
U 9Dا���اP��ء ا����V و ذ�4 ا C
Pا�� ��F6/ �

%ا���) ا��I&K 92���2 �;7 �2ا��&�� =S
  .��Sر

 ��;�Pس ا���ة ا���R%:Qا������  أ CB��;ا�  

  

 

�� ��?�ر�� ا���ع ا�����:� �Z*�ر ا�&��
%   - أ�� Sا$�ح آ���� ا��

��*� �� /[���  - بQ I>6ا���  CB��;�22?�ر�� ا�
2 3S O −   

+و 
3H O    

4-  ��&Kا��� %
  �8� ��X  ��B/<�_ ا�!`��  Q0.5mol;��� /<�_ آ��� ا�&��

C  - أP� I&�  ���S6ا� �:� أ�H) ا����Q ا����


�&;;� ز
�دة ���Q ا����IQ؟�' V`ل هa7 ا��S��2    - ب  cآ� 

��R;� 2���2!�  أV�ى�' 1*�    -5S6� ��;�82ز  ز�SO 'Q C/�;ا�  IQ�2  ا���92ا�����S��  Q250C;� درH �1�ارة  �1
 '��2�� fgا����ن ا����=و� ,�Q I>6;D :  

  maxX ا�ZQi=أو�1 ا��?�م   - أ
���Q ا����Q IQ;� ا���Z6   - ب �H0.5اوmint = 


� ا����S  IQ أ�H) آ��� ا�&��
%   -ج�*� =D ���   ا����

2$�ارد ا����آ��
��ت اذا آ��%   -د
2 3 (aq)S O −

  
IQ����

 
  D[و�6��1 

 =B��2اUه� اPآ��/ 
 

  

 ,:!
( ) 32 /M S g mol=
  ،

24 /MV L mol=  

C
P7 6 5 4 3 2 1 ا�� 

( )1V ml  30 40 50 20 20 20 20 

( )2V ml  10 10 10 10 20 30 40 

( )3V ml  30 20 10 40 30 20 10 

 =�� ا�&S670 70 70 70 70 70 70 ا� 

C
P7 6 5 4 3 2 1 ا�� 

( )t min∆ 1 0.77 0.55 1.45 1.25 1.15 1.1 

t (min) 

- 3     

V (L
-
)  

1 


